N e o = N L o > . = H TR ol |- § 3 FEE . r ZIFERELT=S zr =
_ SM7EE AURTEKTHESER BTAL_RoLE8 SEBEMAE-REs 50 ARECENANIEIES SRR SRR T es TV g _
4% :JrE ESH] (k- - S5 :JFE ESi] (k- B © ESE] (k- B i - B ZH 1 cas-mmonm 85 - B ESi] (k- - 95 :ﬁﬂ ESi] (k2% B E
B |mr|%E B | e #- B|&|#E By | ez #: B 5| P # B |&|#E By | e - B || 52 [swa]espg|wae - B || 52 [swa]espd|wee -
= etc) = etc) - etc) etc) = etc) = etc)
PR 2 [HEN G 1 EERISO) 1 N ES 1 1A
2 | K 2 2 | £ 2 BREQ 2 2 | £ 1S 2 |k
FEES F 2 3| £ it —5 D 3 B#£EQ 3 = 3| B lgE 3 |k
4 [ 2 4B HLE)—5@ 4 ERk@ 4 4 A 4 [ X
5 | £ [ 2 5 | A 5 5 = 5 | ks 5%
6|8 3 6 | 5 6 1 6 B 6 | KIS 6 | +
1718 7 | ks 7 = 7 7 | K |EE 7181
8 | k&= 2 8 | K : 8 : 8 8 | £ 8|1 A
9 | K EE 2 9 [ & 9 9 9 | +1&E 9 [ ]
10 | & &S 2 10| £ : 10 : 10 0] B [E&ES 10 | 7k
HES 1] B == BESE 11 = 11 11 [ A 1| & [
12] £ : 2 12] B 12 = 12 12] kK& B—F4XED 12| &
13| B [gs 3 13| | [ARES 13 13 = 13 | ok |sEE 13| £ |
14| B 14| K i8S 14 s 14 14| KA E1EEA2Q) 4] A
15 | KNS 2 15 | R |3 15 = 15 15| & 15| A
16 | 7K 13535 2 16| & 16 16 16 | + |#EE 16 | N
17| & [Es 2 FEA T 17 = 17 = 17] B %% 17 [ K]
18| £ 18| H E 18 5 18 18| A 18 | &
19| + [BE 2 19| A 19 & 19 19 | & 1#E 192
20| A 6 ELFD 20 | : 20 20 5 20 | Kk 15 E 20| £
21| B EZHQ 21 | K3 21 = 21 21 | & |igE 21| B
APA G 2 A6 22| K 22 : 22 2] £ 22| A
23 | K [EE 2 23| £ 23 23 23| £ |ES 23| &
24 | K S 2 24| 24 E 24 24| BH | &E 24 | Kk
25| & 25| B | 25 25 25| B 25 | K} |3
26 | + g% 3 26 B 26 26 26 |k |#EE 26| &
27| B [#5E 3 27| k] 27 27 27| K |&E 27| £
28 | A 28 | 7k 28 28 28 | A& |12 28| A
29 | A S 3 29 | K| 29 29 2| & 29| A
30 | /K J& 30| & 30 30 30| £ |&E 30 | X |
31| = 31 31| A &E
FHE S & ESS FHE S +E ES ESS SHE =&
WHKEH 8 0 EHAREH 9 0 FHAEKEH 9 0 FHRKEH 8 0 THAREH 0 FHAEH 0 0
AHAEH 0 AHAREH 0 0 RHIREH 0 0 RHIAEH 0 0 AHAEH 0 KEAREH 0 0
T H R ER S 2 B R B #DIV/01 B S B #DIV/01 T B #DIV/0! T S B #DIV/01 S B #DIV/0!
KB D 30 KB SR By 1 #DIV/0 K B SR B 1 #DIV/0 KB S By 1 #DIV /0 K E B i #DIV/0 K E S B 1 #DIV/0
B gt B oyt B oyt = gt = gk =. ook
10A erE = (x%%{ii%ﬁﬁ-ﬂ#laaﬁ 1A erE Gl (xﬁﬁfi&%ﬁﬁ-ﬁﬁaﬁ 127 | EtE = (x%%{iiﬁﬁﬁ-ﬂ#lsaﬁ 1A & = (x%%{ﬁi%ﬁﬁ-ﬂ#lsaﬁ 2A SE = <x%%ﬁt§ﬁﬁ-wﬂ 3A AE = (K%%ﬁ;ﬁﬁ-ﬁ%ﬁﬂ
N b BT EETTIPEE * B | 18| %3 |nxe|esra|nea o g || BRI | e ® g || BER | e ® B |’ R | e :;') B |’ R | e ® FRKER
1K |Es A T 8 EES EEENE; A EERK EE
2 | K 21 H E 2 | M )% 2 | & 2 1R 2 |k
3 | & 3| B 3 |k | EAF 3 | dc|& 3 |13 84
4| 4 |k E2T:E@ 4 | K14 41 H 4 | K 41K
51 H 5 | K 51 & 51 A 5 | K% 5% EiE
6 | A 6 | K 6 | £ 1% 6 | X 6| £ 6 | £
A PN A ES 7| B85 J AR E 71 | 7 | B
8 | k 8 | £ 8| A 8 | K= FHIERE 8| A |
9 [ X 9 [H IHED 9 [ 9 | & 9 [ A 9 [k KEAZEH
10| £ 10| A THEEO 10 | ok | 0] £ PAEE 10 | K EE
nl+ "X FRUNOIEREED) (RN E 1] B s 1] KBS [ERIEES
12| A 12| K RIAQ (TRIED) 12] 2 12| A 12 | & 13 12] 2 1
13| A [HES [FEA F 13k 13 £ 13t
14| & 14 & 14] B EFAKXED 14 | K AEA T 14| H Ex i
15 | K 5] + 15| A EFAXZQ ]| [l Xx|EE HEEE 5] A
AEICE 6] 83 16 | B AKSE3 6] = 6] 2 16 | 0
17| & 17| A 17| K B AKRSE MEAEE 17| & 17 | K
8+ 18| Xk 18] K [E ] KBCEEHD | 18] K 18] K
191 B 19 [ 5k 19 £ 191 A KBCZEH | 19K RES AEHSE
20 | A 20 | & | 20 | £ |4 20 | K KBCEEH® 20| & 20| + EHE
21 [ & 21 £ 21| B 21 ] K 21 £ 21| B
22 | K 2| & 2| B MBI LT A 2| A 85
23 | & 23| A [ 23 | J % 23| & 23| B 23 | &
24 & 24| B 24 | K I 24 | |3 24 | k& 24 | K =&
25| = 25|k 25 | K 14 251 8 > 25 | Xk IR (ZEE ) 25| K
26 | B EZ5TED 26 [ Kk [ 26| £ 26| B 26 | & [ 26| & O
271 B E5TEQ 27| K 27| £ 1% APAEE 211 & 27|
28 | & E5TFEQ 28| & 28| B[ 28 | 7K l#53 28| = 28] A
29 [ 29 + 29 A 29 | & [#&3 20 B 29| B
ES 30| B | 30 | 1% 30| £ KPR
31 & I 31 | kI HIEAEE I 31|k
,,,,, =TE =1 STie] S Bl =1 Bl =M B S =] =M
WHKEH 9 0 FHAEREH 7 0 FHEKEH 9 0 FHAREH 9 0 FHAZEH 7 0 FHAZEH 9 0
KEHAEH 0 0 KEHAEH 0 0 AHAREH 0 0 KEH/REH 0 0 PN=L7 3= 0 AHAZEH 0 0
TAEEEMTY #DIV/0! B EENEEEF1 #DIV/0! BRI F1 #DIV/0! BRSNS #DIV/0! R EBESHI T #DIV/0! B EBERH T #DIV/0!
KA EHEEEY #DIV/0! B R TS #DIV/0! B R #DIV/0! R E R T #DIV/0! B R T #DIV/0! R EERERI T #DIV/0!




